
1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Datum

Masa:

Part list ADS
12-105 control
valves block

1:4

03-01-2023
4.8.2014

N/A /

1

2

5

12 6

7

34

AIRPRESS HOLLAND
junokade 1

8938 AB  Leeuwarden
+31 58 2846846
www.airpress.nl 

This document is the property of AIRPRESS
d.o.o. Any copying or distribution to third 
parties without the written permission of 
AIRPRESS is not permitted.

Part List ADS 12/24/36
Position Code Name
1 4700378 2/2 NO Valve (single part)
2 4700377 2/2 NC Valve (single part)
3
4
5
6

2900019 O RING fi 75

7

2900892 O RING fi 16
5000408 BOLT M4x10 DIN912
5000016 BOLT M6x20 DIN912
5000750 BOLT M8x10 DIN912

[1]

[3]

[3]

[3]

[3]

[1]

[1] - Service Kit 24 and 48 months

Products marked as [1] are available
only in sets:

[3] - Service Kit 39012G2-SMK (2 x 4700378 
and 2 x 4700377) 

Products are available in set:

[3] - Service Kit 39012G2-SMK (2 x 4700378 
and 2 x 4700377) 

Products are available in set:

Part list ADS  60/75/105
Position Code Name
1 4700378 2/2 NO Valve (single part)
2 4700377 2/2 NC Valve (single part)
3
4
5
6

2900562 O RING fi 120

7

2900966 O RING fi 22
[2]

[2]

5000408 BOLT M4x10 DIN912
5000016 BOLT M6x20 DIN912
5000750 BOLT M8x10 DIN912

Products marked as [2] are available
only in sets:
[2] - Service Kit only 48 months


